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Please make sure that the printed pages in this question paper are 16 in number
and it contains 35 questions.
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The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book.

o  FYI TFT F FA VG & FX G e, 59T FH FHEH S [

Before beginning to answer a question, its Serial Number must be written.

o Fv-ylaer & die 7 @l T/ 9 T 881

Don’t leave blank page/pages in your answer-book.

o Furyiaw @ GIRFT W o e T Rl o emavaEdgare & ki o frar gov T
FIeY

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

2630 P.T. 0.



5 2630

o GUERS STy T To FeT-UF T SFeT i@ U To & SIRIT FIT-UH YT 6T FE H 7
ford@ siv dwias 797t & T 9T B JHT F R T T

Candidates must write their Roll No. on the question paper. Except Roll No. do not

write anything on question paper and don't make any mark on answers of objective

type questions.

* PVT T % FT 7§ {@ I8 GAReT FW T 5 geroa gof 9 @@ & qfer # ov 59
T F g A aar @ T A T

Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after

examination.

(i) & 77 sifvard &

(i) F7H97-94 4 T35 o7& W aw @S : 3, § F T T F Ly &

(i) G - of 4 797 G&q 1 § 18 7% JEGE JAX % J97 & JOF §97 1 7% 7 &

(iv) &% - q 7 597 G897 19 § 25 TF olf7-Tgaees 597 & J0F 997 3 2 3% &

(v) @8 - § 7 497 G&I 26 G 30 TF TITIAE F97 & JoF Jo7 F 3 oF & Fur Jo7
TEr 31 07 32 J9F & 4 3% &

(vi) G - § 4 797 & 33 & 35 7% G FTUHEF J97 & FOF g7 B 5 3% &

(vii) & G FTIEE 997 F ARG g YTl & 08 geH ¥ @ onvem B9 0% & g
FTT 81

General Instructions :

2630

(i) All questions are compulsory.

(ii) This question paper contains 35 questions, which are divided into four
Sections : A, B, C and D.

(i) Section — A contains question number 1 to 18 of objective type questions.

Each question carries 1 mark.
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(iv)] Section - B contains question numbers 19 to 25 of very short answer type

questions and carrying 2 marks each.

(v) Section - C contains question numbers 26 to 30 of short answer type

questions and carrying 3 marks each and question number 31 and 32
carrying 4 marks each.

(vi) Section - D contains question numbers 33 to 35 of long answer type

questions and carrying § marks each.

(vii) Internal choice is available in all long answer type questions. You have to

2.
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attempt only one of the given choice in such questions.

grg -
SECTION - A

(g 51e)

(Objective Type Questions)

(A) TEREERES ‘ (B) TEHHERRIES
(C) A (D) gfeimERES

Albugo belongs to :

(A) Ascomycetes (B) Phycomycetes

(C) Basidiomycetes (D) Deuteromycetes

ot & & qmiitEs @dmem (Frieem) frad ear aar 7 1

(A) wfeRferdm | (B) TEhaHeliT

(C) Tafe=T (D)  @rireT

Segmentation in the body is first observed in which of the following ?
(A) Platyhelminthes (B) Aschelminthes

(C) Annelida (D)  Arthropoda

P.T.0.
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(4)

Ry & & Reed ordiadt sferer & & 7

(&) W& (B) T
(C) Tsew - (D) SR
In which of the following ovary is inferior ?

(A) Mustard ' ' (B) Brinjal

(C) China-rose (D) Guava.

Rrig deeara fhed umr e & 7

(&) T (B) wEHE

(C) T ' (D) |

Parict'al.placcntation is present in :
(A) Tomato - (B) Sunflower

(C) Pea (D) Mustard

o & & P ofves Rl At Rieell § B 727 e ?

() EEEE , (B) 35F

(C) g (D) T Y

Which of the following organelles does not surrounded by any membrane ?
(A) Ribosome (B) Nucleus

(C) Mitochondria (D)

Endoplasmic reticulum
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RifYs ort aw # Prefofad & @ fi9-ar @0 (RY) Rengitmy derd exr I@Rd 787
B ? 1

(A) s ova ¥ fafgs
B) FRifes ora & o-lerqeR® o
(€) wRiE o 8 FARS a=d

(D) At or & SiRCIES ot

In citric acid cycle, which of the following step is not catalysed by
dehydrogenase enzyme ?

(A) Oxaloacetic acid to citric acid

(B) Citric acid to a-ketoglutaric acid
(C) Succinic acid to fumaric acid

(D) Malic acid to oxaloacetic acid

TR F Rhas g Swae Rear s & ?
(A) 9 % gHH A Ty i FE B *o
(B) @R % THM & g 4 FH B g
(C) Wl & TN # T Fer $ fg

(D) (B) ST (C) At
Ethylene is used for :

(A) Slowing down ripening of Apples
(B) Slowing down ripening of Tomato
(C) Hastening of ripening in Fruits

(D) Both (B) & (C)

P.T. Q.
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PEP Rped CO, & Y Tt o © 7
(A) Cp qdi &

(B) C; qigt #

(C) Ca c‘nﬁﬁ

(D) (B) &R (C) & &

PEP is primary CO, acceptor in :

"(A) C: plants

(B) Cs plants
(C) Ca4 plants

(D) Both (B) & (C) .

9. ﬁwﬁf@aﬁﬁ_ﬁ#—m'aﬂﬁm@rﬁﬁﬁmw%?

2630

A) TS YR v ()

B) (2,4 @), 2, 4 ST THeH o
©) TR e o (omwe)

(D) &H & HE T

Which of the following auxin has been isolated from plants ?
(A) Naphthalene acetic acid (NAA)

(B) 2, 4-dichlorophenoxy acetic acid (2, 4-D)

(C) Indole acetic acid (IAA)

(D) None of these

2630
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10. e & & DH-T1 TgHHCHES © 7

11.

12]

13.
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(A) FifHr (B)
(€) SRl (D)
Which of the following is a glucocorticoid ?
(A) Cortisol (B)
(C) Nor-epinephrine (D)
9T fed S 8§ B @ 7

(A‘j SR o7 (B)
(C) Wi o (D)

Gout is.caused due to the accumulation of :

(A) Oxalic acid (B)
(C) Lactic acid (D)
T & e et g o ¥ ?

(A) STBEES diE (B)
() (A) 9 (B) A (D)
Node of Ranvier is found in :

(A) Non-myelinated nerve fibres (B)
(C) Both (A) and (B) (D)
SR fodiore g% &y ©

(A) e (B)
(©) femrs (D)

UEEETR
TeE

Epinephrine

Aldosterone

IR T B FH
eqTH FrEHE

Uric acid crystals

Calcium carbonate

BT T T
T { F T

Myelinated nerve fibre

None of these

eIguEfers
Hreft
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Oxygen dissociation curve is :

(A) Parabolic - (B) Hyperbolic

(€) Sigmoid | (D) Straight
@g'ﬁ"ﬁi”aqﬂmﬁﬁﬁﬁ%mmﬁzﬁrmwm%? 1
4 2 | B) 4

(€) 6 (D) 8

One molecule of haemoglobin can carry a maximum of how many molecules of

oxygen ?
(A) 2 (B) 4

(C) 6 | (D) 8

Prfoiad 5% e (W99 §& 15, 16, 17 3K 18) ¥ ftaaw (A) & Fo+ R o @
AR I AF = BROT (R) F FU R 11 31 A FA W FER A gu Ry g
% eI ¥ @@l Su} H 9T Hi]

In each of the following questions (Q. No. 15, 16, 17 & 18), a statement of
Assertion (A) is given followed by a corresponding statement of Reason (R)

just below it. Of the statement, choose the correct answer using the codes

given below.
(A) ST (A) W@ FRT (R) A T ¥ wF FR (R) o (A) B w1 e B

(B) AT (A) W FT (R) A §& B W IR (R) o (A) v e 7
R

(©) o (A) T8 ¥ AT BT (R) T B
(D) ¥R (A) T FT (R) AT T &
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16.
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(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true but Reason (R) is not correct

explanation of Assertion (A).
(C) Assertion (A) is true but Reason (R) is false.

(D) Both Assertion (A) and Reason (R) are false.

e (A) : U dgEe ¥ A-Se o 1S AMF @ @ 9 @ Sl g 1

FR (R) : A-J2 F TEARE IR 19 &1 ofred AN dgaada oem § oY 3l @5
3 A ¥ THR () § F7 & 5 o

Assertion (A) : In muscle contraction, length of both A-bands and I-band
decreased.

Reason (R) : Both myosin of A-band and actin of I-band are contractile
proteins and decrease in size during muscle contraction.

S (A) ¢ 9ed gy AR Ew aled IR A dd-sEgiied e o #ed ¥ 1

W[m: ADH gHIq® Hafed AR (PCT) T4 G Afempran & e H 987 &,
PEd ol & g SrasieT Je @ SR W SR B9 P

Assertion (A) : Vasopressin released by posterior pituitary is also called Anti-
diuretic Hormone (ADH).

Reason (R) : ADH increases the permeability of (PCT) Proximal Convoluted
Tubule and collecting tubules to increase reabsorption of water
and decrease the urine output.

SAREHET (A) : Ca T & AT § Cq FH HeQoTeTH 0o 1 T B 1
HITT (R) : Cq Gl # Yeprer g9 7€ e 2

Assertion (A) : C4 photosynthetic pathway is more efficient than the C3 pathway.
Reason (R) : In C4 plants photorespiration does not occur,

P.T.O.
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18. REUT (A) : WEAHA T TR e o B 1
FOT (R): 3 Ted ¥ AR offt & P &y ¥ ol ot dieAu g ® Afe S

Teeryor A 2 ek

Assertion (A) : Mitochondria and chloroplast are semi-autonomous organelles.

Reason (R) : They are formed by division of pre-existing organelles and

contain DNA but lack protein synthesizing machinery.

qUg - §

SECTION - B

(ofer g 9 )
( Very Short Answer Type Questions )

19. T TSy & HEwie (gfeda) fram @ § 7 2

What are the universal rules of nomenclature ?

20. AW B FIBIT P F SR & 7

2
What is the basis of classification of Algae ?
21. WA # s o qiias @xam & o @ siemg ¥ ? 2
What do you mean by secondary and tertiary structure of protein ?
22. HE i B qfearr G qer & wre e @ e § 7 5

Define Respiratory Quotient. What is the Respiratory Quotient of fat ?

2630



—_ 2630

23. @4 & P gy, 2

Write down the functions of Lymph.

24. forfci & a7 7 & ? 2

What are the functions of Gibberellins ?

HYqr

OR

AR 6 I T geA @y ¥ 7

What are the crucial events in aerobic respiration ?

25. WD T 1 @ ¥ 7 2

What are the main functions of the root system ?

OR
ﬁﬂﬁwﬁ?@r%ﬁ%?sﬂ%ﬁﬁﬂmw%?

What is Venation ? What are various types of it ?

2630 P.T.0.
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28.
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(12)
gE -|
SECTION - C

( e 9T )

( Short Answer Type Questions )

= g % qoife=are @ IR died o Fi

Explain with suitable examples different type of phyllotaxy.

UeEq R & SO o6 & IO @ qUN &It

Describe the steps of catalytic cycle of an enzyme action.

sttt i (St ) & R

Write down the functions of Endoplasmic reticulum.

AT & J&I =X 1§ 7

What are the various steps of glycolysis ?

OR

T BIE-BERHeH F 9o g

Describe cyclic photophosphorylation.

2630
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30. el o (smafi) & orgoRer H1e P AR o ST 3

Draw a well labelled diagram of T. S. Dicot root (Primary).

e
OR
THESTE T % AR HE F AHib o T

Draw a well labelled diagram of T. S. of Monocot stem.

31.

m%aﬁ@mwwﬁ(qﬁﬂw)ﬂmﬁqwﬁﬂﬁmﬁnﬁ%wﬁ%q:

Identify the animals A and B shown above in the figure and answer the

following questions :

2630
P T. 0.
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(a) = Sad § FrY avE F GREE dF W o @ 7 "

Which type of circulatory system is present in these animals ?

(b) & THE ¥ B R & SreliEed o et ofT WY o ¥ 7 |

. : imals ?
Which are osmoregulatory and excretory organs present in these animals :

() AT B Fa (TFmed) & I a0 =1 € ? 2

What are the scientific name of animals A and B ?

e

OR
PH-F TG INFRNAS T P81 AT () TR § 7
Which one of the animals is monoecious & which one is dioecious ?

CYTOPLASM
CYTOPLASM

NUCLEUS ____NucLeus

32.

-\
NUCLEUS

(A) (B) (©) (D) (E)

IR e # e 5 & S@aEe i | 2 3R TeEe o R gt &
I QRTE -

Different types of Leucocytes are shown above in figure. Identify these and
answer the following questions :

(a) e FHERCH ¥ ¥ 99 s e ¥ -9 g o ¥ ? 1

Which one is the most abundant cell of total leucocytes ?

2630
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(b) -G H&I1 § G 9 B 7 1
Which is least in number ?

(c) TIHEES A & WHX BN o) Hdepralt 3 A fifawy 2

Name two types of phagocytic cells in leucocytes.

Eqr
OR

e SR & TgEraEe oot Sifear O eivgerd sfafer # affag 8 g 7

Which type of leucocyte is involved in allergic and inflammatory reactions ?

quE -7
SECTION - D
(& T ueT )

( Long Answer Type Questions )

33. TYH W T H IR W HIY | 5

Differentiate between Chordates and Non-chordates.

AT
OR

THEAeHe | & fafire oeor fofgy ud Serevr i

Write down the salient features of phylum Echinodermata and give examples.

- 2630 P.T.O.
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34. PR RBeEE 3 G Reem-11 # o i

Describe Meiosis-II of cell division.

OR
USIEH & T i fofaay
Write down the classification of Enzymes.

35. TR AT & AT H AU i

Describe the transmission of nerve impulse.

HYqr

OR

e (R ) @ Rt Rt a1 oot i

Describe various disorders of circulatory system.

2630
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